
Fill in the blanks of the following nucleotides and use the genetic code (next page) for the correct
amino acid.

DNA   T       G        A DNA   G      C       G 

mRNA (codon) ___    ___     ___ mRNA (codon) ___    ___    ___

Protein ______________ Protein ______________

tRNA (anticodon) ___    ___     ___ tRNA (anticodon) ___    ___     ___

DNA   G       A       T DNA   T       A        T 

mRNA (codon) ___    ___     ___ mRNA (codon) ___    ___     ___

Protein ______________ Protein ______________

tRNA (anticodon) ___    ___     ___ tRNA (anticodon) ___    ___     ___
 

DNA   C       G       T DNA   T       T        C 

mRNA (codon) ___    ___     ___ mRNA (codon) ___    ___     ___

Protein ______________ Protein ______________

tRNA (anticodon) ___    ___     ___ tRNA (anticodon) ___    ___     ___

DNA   G       T       A DNA   T       C        G 

mRNA (codon) ___    ___     ___ mRNA (codon) ___    ___     ___

Protein ______________ Protein ______________

tRNA (anticodon) ___    ___     ___ tRNA (anticodon) ___    ___     ___





Answers

DNA   T       G        A DNA   G      C       G 

mRNA (codon) _A_   _C_   _U_ mRNA (codon) _C_   _G_   _C_

Protein ___Thr________ Protein ___Arg________

tRNA (anticodon) _U_   _G_   _A_ tRNA (anticodon) _G_   _C_   _G_

DNA   G       A       T DNA   T       A        T 

mRNA (codon) _C_   _U_   _A_ mRNA (codon) _A_   _U_   _A_

Protein ___Leu________ Protein ___Ile________

tRNA (anticodon) _G_   _A_   _U_ tRNA (anticodon) _U_   _A_   _U_

DNA   C       G       T DNA   T       T        C 

mRNA (codon) _G_   _C_   _A_ mRNA (codon) _A_   _A_   _G_

Protein ___Ala________ Protein ___Lys________

tRNA (anticodon) _C_   _G_   _U_ tRNA (anticodon) _U_   _U_   _C_

DNA   G       T       A DNA   T       C        G 

mRNA (codon) _C_   _A_   _U_ mRNA (codon) _A_   _G_   _C_

Protein ___His________ Protein ___Ser________

tRNA (anticodon) _G_   _U_   _A_ tRNA (anticodon) _U_   _C_   _G_


